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Station #1

Solve for y:

7y + 5 - 3y = -31
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Station #2

8(t + 7) = 4(2t + 14)
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Station #3

6(w - 5) -3w = 20 + 3w + 10
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Station #4

equation:

number of cd's:

Your cable company charges $39.95 
plus $9.99 for each upgrade.  If 
your bill was $69.92, how many 
upgrades did you get?
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Station #5

Two trains leave the station at the same 
time headed in opposite directions. If the 
first train is going 70 mpg and the second 
train is going 85 mpg, how many hours have 
they been traveling if they're 465 miles 
apart?
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Station #6
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Station #7
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Station #8

The lenth of a rectangle is 5 inches 
more than its width. The perimeter of 
the rectangle is 50 inches. What are 
the dimensions?

length =

width=

eqution:
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Station #9
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Station #10

equation:
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Station #11

If it takes you 3 hours to clean the 
house and your sister can do it in 2, how 
many hours will it take if you both do it 
together?


